Math 1172 - Autumn 2015 Name:

Quiz 8 - Take Home Recitation Instructor:

SHOW ALL WORK!!! Unsupported answers might not receive full credit. Use the back
of this sheet for additional workspace.

Problem 1 [4 pts] Suppose @ = 37 + 4] and ¢/ = 47 + 2.
a) [1 pt] Calculate 4 - ¥. E: {3,4> \7‘ ={4, 2>
W-V= 34+42=)2¢8 = 20 4o
(:2’77:0 = a ond U ovR et Pe/”)‘e.v\Mc,wLa/y_

b) [1 pt] Find cos @, where 0 < 6 < 7 is the angle between the vectors @ and ¢. Are ¥

and ¥ perpendicular?
QY 3= 3 ter , W= Jae = J2o w7

COSG: Ww-wv

Y = {5 =5

So 0= 05"(F)
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¢) [2 pts] Find a vector P that is parallel to @ and a vector N perpendicular to ¥ such
that = P + N.

Hint: Draw a picture. What is projza?
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Then N = £ - ;3: 345 = L4,25>= <-1, 01>
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